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Use capillary viscometry has allowed to receive empirical dependences of change of the 
maintenance carbon-kauchuvogo of gel from speed of shift, degree of filling, temperatures 
HIJ�JKLHMNOIP�OQ�NIQRKSITS�NI�QNRRSJ�VNMW�MSTWINTHR�THLXOI�OQ�YHLZ��-354 butadien-stirolnom 
rubber SKS-30ARK.
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���� �� ������7�:� ��5��
�����
$��7
���� 9��9
��9 �
`�:;�5
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$��8`
��
5� �
5$
�����8� $��9��9
��9�
��"�
�����
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$������  �
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5
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���� �5
�E`�
��9� ��
������7�����5 $��7
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�
5$
�������� ��5�����
�� �
�5��
���9�
�
�����7�9, �� ������
 ���������� �� "��
�
$
�
��!����� �$���!����
�� $��9��
��:�
�
�5��������
�E�����
�����7��.

����9��� �8�
�9�E� ��
� ������8
�
���!
������� 5
����"5�� 5
������5��
�����
�
��7�� [1]:

1) $
�������� �
��7�
�� 9��9
��9� ��"�8��
5��
���� �������� �� �!��"�����
5� ���!���8��
$���5
��8�����������{

2) ���!���8
� �������8� 5����� ����$��E�
��� �������8
� �
��7��%� $�����9;�
� ��!� ��
�!�8���7
$�%���!����

���"�
���
��:
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$�
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����
���� ���
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������8
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���
� ���$$8%� �� ��5� ����
�
���������E�8
%� ���!�����E�8
� �� ������8
%�
�


������7���
����
�����5���������5�������E
����$���	���7�����E�8����7
$�������������,
�����8�� �$���!
�� �"��5��
��������E� ��
��������������� $���5
����� 7
$E:
� �� �����
�
$����
���
��9�  ���� 	���7�����E�8�� ���$$� ��
$���5
��85� ���!���85� ��������5%� �����7��
�
����
���� 5��
�� ���"��E�9� ��9"������ ��
������ ���� !��E`�5� �����5� 5
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��"������8�� 5��
���� �������
� ���E�
�`

�
5
�����
�5��
���
� ��"�
�����
� 5��
��
$���
�������!��"�����:��
��������5����
����
�"������������
����
���� [2].

��  ���� ��9"�� ������E���� $��!�
5���
9��9
��9 �"��
��
 ���9��9 �
��5���
$
�
��!����: 5
�����
����� �� �
�5��
������
��"�
�����9� �� ��
��5� ��
�8� ��� $��7
��8�
5
����- �� �
�5�5
������5��
���� $�
���-
;
����������
5
������� – �
����
���
�

�� ���
���
� �!|
���� �"��
��9� �������
!�����
�-������E�8�� ������� +�+-(}�F�,
��$���
��8�� ������85� �
����
����5� 5�����
�(<& ��� ������� ���
���� $��� ���$
�����:;
5
��"�
������ ��E���"���������$��9


A��
��������
�$��7
����, $���
��:;���
$��� $
�
��!���
 �� �8�������������5�
�!����������, $��������� �� $�5�;E:�
����5����
������ ��$���9������ �
�5
����
~�YHLM� ����� �}}}�� �� `�����5� ���
����
�
�������
������������
5$
�����8
�

�7
���� ������� 5
�����
������
��"�
�����9� $���������E ��� �
�5
��
 $���
�
5$
�����
� <} 0+� �� ��$��E"�����
5
��$���9������5
���5��,0 55, �������L� = 5,0 
��)}%}�55�� ���E�������
5�����������$������9�
$��`�9������
����
�}%<–17,<�55��


������8
� $���"��
��%� ������
��"�:;�
�
$��7
��8� ����������!��"�����9� $���5
�����
����
58� $��� �
	��5��������� �
�
"� ��$���9��
�������<�55%�$�
������
�8�������. 1, 2

F��. �
� �"5
�
��
� ��$�9�
��9 ������� ��� ���������
������� $��� �
5$
�����
� C}� 0+%� ��9� ��5$�"�7���
������–�
����
������}}–20; 100–40; 100–60

�����
���  5$����
���9� "�����5���E,
������
��"�:;�9� �"5
�
��
� ���
�����9�
���
����– ������������ � �
�9���"�����5��������
��������� ������� � �� ��
$
��� ��$���
��9� $���
�
5$
�����
�<}0+�

G(�, �) = – ha(�)e-hk(�) + hb(�)

��
 ha(�), hb(�), hc(�) – 	���7���
�� 		�7�
�����������

f(�) = a�b + c.                      (1)

 

�
F��. 2. +��
�����
� ���
���-������������ �
�9� ��
"�����5����� ��� ��
$
��� ��$���
��9� �� ���������
�������$����
5$
�����
�<}0+

����
��9 �� 		�7�
����� $���
�
�8� ��
��!�. 1.

3 � ! � � 7 � 1
�5$����
���
��� 		�7�
��8�	���7����1)

����7�9 ����
��
��� 		�7�
����

a b 

ha(�) - 4,817�106 1,307�10-5 4,8�106

hb(�) 2,2�105 1,19�10-5 -2,18*105

hk(�) 0 25,5 0,98

+� ��
���
��
5� ��������� �������
��"�����:� ��$�9�
��9� ������� ����
� �), ����
�$���!����
�� ��
���
��: ������ ��"�8����
$���5
��8�� 7
$
�%� ���
�����
� �
��� �!;

�
���
�����
� ���
���-������������ �
�9�
�������
�� "���
��9� $��9���� <} % �5��
�. ��
���
� �$�
�
�
��9� ���
���-������������ �
�9� ��
��$���
���5� ������
� ��5
�����E�
$�
�5�;
���
���� �
5����!7�����
�
�"��5��
�����
%� ��� $���  ��5� ���������
$������������ �8��8�� �
�E%� ���� ���"8��
�� ��
������
������!7������� �"��5��
�����9


����
������� ���9��
� �
�5�5
����-
�
������ ��"�
�����9� ��� �!��"�����
�
��9"�������������� ���
����
����5 $���������
�� ���
����
� �
5$
������ *} – 180 0+�                  
�� $����9����� �������E:� $�����������9�����������������
0,<� 55��%� � ��$��E"�����
5� ��$���9��� �������
<�55 ����
�3, 4).

+���
���
��
5��
5$
�����8 �����
����
��
��� *}� ��� �<}� 0+ $��� $����9����� ���������
������� ��!�:�����E ����
��
� ��$�9�
��
�
������ ����
� 3). ������ $��8`
��

�
5$
�����8� ��8`
� 150 0+� ��$����������E

R����%�T-1

R�
��

�%�
T-1
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��"�������
5� ��$�9�
��9� ������%� $���  ��5�
��
���������E ���
�����
� ���
���-
������������ �
�9� �� ��$���
���5� ������

�
+��
�����
� �
�9� ��������� 5����5��E�����
"���
��9� �� �������9�� $��9���� '}� % �5��
�� ��
����
��
5��� �!������ �
5$
�����%� $��  ��5�
������������� �8��8�� ���
���-��������8�
�
�E


F��. 3. ������5���E� ��$�9�
��9� ������� ���
�
5$
�����8%� ��9� ��5$�"�7��� ������–�
����
�����
100–20; 100–40; 100–�}� $��� $����9����� ���������
�������}%<�55��

 

F��
 4. +��
�����
� ���
���-������������ �
�9� ��
"�����5����������
$
�����$���
��9�����
5$
�����8

�"5
�
��9� ���
�����9� ���
���-
������������ �
�9� �� "�����5����� ���
�
5$
�����8� �� ��
$
��� ��$���
��9�
�$��8��
��9���
��:;�5��8���
��
5�

G(t, �) = – ha(�)e-hk(�) + hb(�)

��
 ha(�), hb(�), hc(�) – 	���7���
�� 		�7�
����������

f����a�b + c            (2)
����
��9 �� 		�7�
���� $���
�
�8� ��

��!�. 2.

3 � ! � � 7 ��)�
�5$����
���
��� 		�7�
��8�	���7����))

����7�9 ����
��
��� 		�7�
����

a b 

ha(�) - 8,4�105 3,32�10-5 8,5�105

hb(�) 4,4�104 1,14�10-5 - 4,35�104

hk(�) 8,3�10-6 1,75 0,015

���� !��

� �
������ �
��5��� ��
`�
���
��"�
�����9 - 5����5��E������������������� ��
�
5$
�����
 180 0+ – ��!�:��:��9�
������
���
� ��$�9�
��9� ������%� �����8
�
��$�������:��9����!���5���
�����7����85�
$��7
���5� – ����
��
5� �
�
�!��"�����9 ��
$����
��
5 $����������8������ ���������
�

��
���
��
 ��
`�
�� 5
�����
�����
�����"�� ���"8��
�� �
��;
���
���
 ���9��

��� �!��"�����
� ���
���-������������ �
�9� $���
�
	��5��������� ��$���
������ �
����
����5
!�����
�-������E����� �������� $��
�
5$
�����
 ���
��<}�0+ ���!�
(�.

��$��E"�����
� ��$���9��� !��E`
��
����8� �)0 55�� $�"������� ��"���E�
5����5��E��
� ����
��
�$�����������9� ��� 50
A��
� ��������
��%� ���� $��� ������
����
5����5��E����� 5
�����
����� ��"�
�����9
��5
��
��9� ����
��
� ���
�����9� ���
���-
������������ �
�9� ���!�
 4)
� ����  ��5�
��5
��
��9� !��

� ���
������
� ���9��
�
��
$
��� ��$���
��9� ��� �!��"�����
� ���
���-
�������������
�9
�

3 � ! � � 7 ��(

���9��
� �������� �
	��5�������9 �
�
"� ��$���9�
�������<�55���$���
�������
����
����5�!�����
�-
������E����� �������� +�+-(}�F� ��� ���
�����

���
���-�������������
�9

+�
$
�E�
��$���
��9�
��5$�"�7��%�
%

+������E�
$�������#
����9%�55��

����
#
��
%�
A��

+��
�#
����
�
�
�9%��

20

0,1661 9.7 53,04
0,3341 11,2 56,66
0,6663 13,4 58,5
1,3320 15,8 58,16

40

0,1661 11,6 55,1
0,3341 13,19 57,95
0,6663 14,9 57,92
1,3320 16,7 57,23

60

0,1661 14,64 62,9
0,3341 16,3 64,16
0,6663 19,24 64,03
1,3320 20,2 65,08
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+���
��
� �!��"�����9� ���
���-
������������ �
�9 $��� 5����5��E��5�
5
�����
���5� ��"�
������ ��9"��� ��
����`
��
5� �
��5�� �
�
��9
� 3
�
��
� $��
�9"��5�� 5
����"5�� $��� �8������ "���
��9��
��$�9�
��9� ������� �
� ��"����
��9%� �� �������
$
�
���������8����
���
��8���� ������
���
�
�����9��
� �� $��� �
	��5��������� �
�
"�
��$���9� $
�
5
;�
��9� ��
�� 5�����%�
��$8�8��9���$������
��
���
`�
�����
��9�$��
��
���5� ��$���9��
 �� ��������
� [3] $���
�
��
�����"� 5
����"5��� ~�
�
��9�� �8������$��-
�
��8�����������$���������
�����$���5
�����
�
	��5�������9��
�
"���$���9�.

3 � ! � � 7 ��&
���9��
� �������� �
	��5�������9� �
�
"� ��$���9�
������� )}� 55� ��$���
������ �
����
����5�
!�����
�-������E���� �������� +�+-(}�F�� ���
���
�����
����
���-�������������
�9

+�
$
�E�
��$���
��9�
��5$�"�7��%�
%

+������E�
$�������#
����9%�55��

����
#
��
%�
A��

+��
�#
����
�
�
�9%�

20

0,1661 26,228 46,34
0,3341 30,742 49,11
0,6663 33,005 50,28
1,3320 37,046 54,19

40

0,1661 33,3 57,35
0,3341 37,14 61,38
0,6663 42,03 63,55
1,3320 44,9 62,59

60

0,1661 29,3 58,59
0,3341 38,04 64,59
0,6663 47,8 67,87
1,3320 56,1 62,07

�����"� ���������8�� $�
���;
��� $���
�
	��5����������
�
"���$���9� ��$���
�����
������85� �
����
���� !�����
�-������E�����
������� +�+-(}�F�� $���"��%� ���� ��������E
$�����������9� �
�
"� ��$���9� �$���!����
�
����
��: ��$�9�
��9� ������� �� �
������5�
$��8`
��: ���
�����
� ���
���-�����������
�
�9.

_����$���9�
���!��E`
���������������
�
$��
�
��
� ��!�:��
��9� ��� ��
�E
��� $��$����%�
$���
� �
��� ��$�9�
��
� ������� ������
��
��"������E%� �� ���
�����
� �
�9� �������E�9�
$������
���� $����9��85
� ���� �8������
�������9�� ������� ���������� ��5$�"�7���
�
���������%� �����
��9�  ������
���9�
�������9:;�9%� $����
��8��  ���������
��"��`�
��9 ����
�<�.

F��
 5. �!��"�����
� �
�9� �� "�����5����� ���
���������� $��$������9� �!��"7��� �
�
"� ��$���9���          
1 – L����<�55%����5
�����55; 2 – L ����)}�55

���� 5��
�� !8�E� ��9"���� �� �
5%� ����
����
�E��
�5
�����
�5��
���
���"�
�����
����
��$���
��8
�  �����5
�8� �� ������85��
��$�����
�95�� $�������� �� ��������5��
��"��`
��:� �
�9
� ��������� ��"�����
�8���$�
�� �� ���
���
� ��7
$����� ���������%�
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